Even answers for Chapter 13.   Notify me of any disagreement.


2.	(a) 110 N,  (b) The graph will be a straight line through the origin and with a slope of 1.0 x 103 N/m


4.	(a) 8.0 s,  (b) No, the force is not of Hooke's law form. 


6.	(a) 575 N/m,  (b) 46 J


8.	(a) 101 J,  (b) 41.2 cm,  (c) 90.2 m/s2


10.	47.8 cm


12.	(a) �EMBED Equation.3  \* MERGEFORMAT���,  (b) �EMBED Equation.3  \* MERGEFORMAT���


14.	(a) 0.15 J,  (b) 0.78 m/s,  (c) 18 m/s2


16.	3.06 m/s


18.	The displacement of the piston is 


	x = Acoswt, where A = the radius of the circle.


20.	3.95 N/m


22.	2.2 Hz


24.	(a) 11.0 N toward left,  (b) 0.88 oscillations


26.	�EMBED Equation.3  \* MERGEFORMAT���


28.	21.9 m


30.	(a) slow,  (b) 9:47:17 A.M.


32.	(a) 9.0 cm,  (b) 20 cm,  (c) 0.04 s, (d) 500 cm/s


34.	(a) 1.14 x 10-8 s,  (b) 3.41 m


36.	0.08 m to 12 m


38.	(a) 0.20 Hz,  (b) 0.25 Hz


40.	(a) 30.0 N,  (b) 25.8 m/s


42.	(a) 5.1 x 10-2 kg/m,  (b) 20 m/s


44.	(a) 0,  (b) 0.30 m


46.	(a) 0.25 m,  (b) 0.47 N/m,


	(c) 0.23 m,  (d) -0.12 m/s


48.	0.990 m


50.	(a) 100 m/s,  (b) 374 J


52.	(a) 19.8 m/s,  (b) 8.94 m


54.	(a) 6.93 m/s,  (b) 1.14 m


56.  1.64 m/s2


58.  Answer given


60.  (a)  the longitudinal wave, (b)  11.1 min


62.  1.3 cm/s


64.  (a)  -28 J, (b)  0.446 m





